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a® —b3=(a—b)@2 +ab+b%) Th Y. a2+ab+b2:%{a2 +b2+(a+b)?}=0L V. a-b>0

217=7x31TH LN D

a-b=1 a?+ab+b2=2170 & %

a’?+ab+b® —(a—b)> =3ab=217-1=216 ab=72

(a+b)?=217+ab=289 a+b=+17

a, bid, t2+17t+72=0F 7213t -17t+72=0D 2 fR CTH D,

t2 +17t+72=(t+8)(t+9)=0 t=-9, -8 t*>-17t+72=(t-8)(t-9)=0 t=8,9
a-b>0kLV., EWT5D1T (a b)=(-8 -9), (9 8)

a-b=217 a’? +ab+b? =10 & =
3ab=1-217> =-47088 ab=-15696
(a+b)? =1+ab=-15695<0 L v . i,

a-b=7 a%+ab+b? =310+ x

3ab=31-49=-18 ab=-6

(a+b)?=31+ab=25 a+b=15

a,bi, t?+5t—-6=0F721Lt> -5t-6=00 2 fF TH 5,

t> +5t—6=(t+6){t-1)=0 t=—6,1 t>-5t—6=(t—-6)t+1)=0 t=-16
a-b>0LV, @I HD1X (a b)=(6 -1, (1 —6)

a-b=31 a’+ab+b’=70 & x
3ab=7-31>=-954 ab=-318

(a+b)?=7+ab=-311<0 LV, Fi,

PLEiCkY  c(a b)=(-8, -9), (9 8), (6, -1), (1, —6) - (%)



